BRAZE / Components

[ (x®&= : TY-34)2008.02.08

548 / External View No. %# / Part name & / Pcs MEB / Material . ZEMALHE / Color- Finish
1 vy 77 /N—= / Top cover 1 A UD-A"2-p / Polycarbonate |34Mb- / Light gray
2 |RT+4 — 1 NUD-RK-NT RT3\ - I4NT b=
Base Glass fiber filled Light gray
polycarbonate
3 [AFv b / Gasket 1 AY7b3y / Polyurethane 73y / Black
L |7y # / Lafch 3 A77bx / Stainless steel NI / Unfinished
5 [Effx—-ZAEA(MS x 10) 6 £k = @90k
Screw(M5 - 10) Steel Trivalent chromate
6 |YMERERFTE 6 A77VR 2L 38
Mounting brackef Stainless steel Unfinished
T |HffAKE A (MS x 10) 6 X = (@ 90x-h
. i Screw(M5 - 10) Steel Trivalent chromate
e o R 8 |# / Ke 2 HEbw > / Brass “vidvt / Nickel plated
— ] y D
F=-7WF7—% / Technical Data
730 REEM,R / Profection class IP65
662 EARE®E / Operating temperature | -20C ~ +75C
626 WeM 2 5 2 / Flammability class UL94V-=0
156.5 156.5 156.5 156.5
o -5 A5 = === = v = S = =
g0 :
i
I
i<
] O | NN | \D [eN
| M [ \OD | N G
: LN | | —
(@]
=
\
o L =
6-M544-KFyh
6-M5 Insert nut
L75 36.5
A T
| N _ &% /Title N —
HARXMSNFERIX | gk peadEsEtcn-c-rao | O L
6 M54ty TAKAGHIELECTRONIES FNGLOSURE Co. 1D, IP65 POLYCARBONATE PLASTIC BOX with LOCK
6-MS Insert nut &I /Approved | R /Checked | #E/Created |E% /Product number RE/Scale1.8
. BCPK507018S :
iR BH ) 172
(e58 /Date  2021/06/04




[(x®m&= : TY-34)2008.02.08

N8 / Internal View

T 14— (HER) H /13— (R1R)
Base (Internal View) Cover (Internal View)
2 188 130
1 [mm]| 1
0 I 3 o &’ ;
—
l\
G
=
© el -5
o \ >
mM [gv]
LN p >
~
® gl 4
=
1<
s
R o o) % 3
T R Tl )
6-M54Y#-ryh
6-M5475-7vh 6-M5 Insert nut
6-M5 Insert nut
NS
N,
E
O
>
(V]
>
~
ﬂé' = _ N _ &% /Title R
= ARTA /Max dim. 6 HARUIHTEBIX | g praamEdcn-reovrwn | O T
T TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 POLYCARBONATE PLASTIC BOX with LOCK
KRB /Approved | &R /Checked | #E/Created 3% /Product number R}%/Scale1.8
. BCPK507018S :
i i & 2 /9
fER B /Date 2021/06/04




	BCPK507018 Model (1).pdf
	BCPK507018 Model (2).pdf

